

## STRONG CONVERGENCE THEOREMS FOR FIXED POINT PROBLEMS AND EQUILIBRIUM PROBLEMS WITH APPLICATIONS

Huan-chun Wu<sup>1</sup>

Cao-zong Cheng

Wen-jing Han

*College of Applied Sciences  
Beijing University of Technology  
Beijing 100124  
P.R. China  
e-mails: wuhuan Chun@emails.bjut.edu.cn  
czcheng@bjut.edu.cn  
wjhan2011@emails.bjut.edu.cn*

**Abstract.** In this paper, we present a new iterative algorithm for finding a common element of the set of fixed points of a nonexpansive mapping and the set of solutions of an equilibrium problem, and we prove the strong convergence theorems in Hilbert spaces. We also apply our results to the convex minimization and variational inequality problems. Our results extend and improve some recent results of Cai, Tang and Liu [Cai, Y., Tang, Y. and Liu, L.: *Iterative algorithms for minimum-norm fixed point of nonexpansive mapping in Hilbert space*. Fixed Point Theory Appl., 2012:49 (2012)] and others.

### 1. Introduction

Let  $C$  be a nonempty closed convex subset of a real Hilbert space  $H$ . A mapping  $T : C \rightarrow C$  is called nonexpansive if  $\|Tx - Ty\| \leq \|x - y\|$  for all  $x, y \in C$ . The set of fixed points of  $T$  is denoted by  $\text{Fix}(T)$ . It is well known that  $\text{Fix}(T)$  is closed and convex. Halpern [1] introduced an iterative method for approximation of fixed points of a nonexpansive mapping as follows:  $u \in C$ ,  $x_1 \in C$  and

$$x_{n+1} = \alpha_n u + (1 - \alpha_n)Tx_n,$$

---

<sup>1</sup>Corresponding author. e-mail: wuhuan Chun@emails.bjut.edu.cn

where  $\{\alpha_n\}$  is a sequence in  $[0, 1]$ . Wittmann [2] proved that  $\{x_n\}$  converges strongly to  $P_{\text{Fix}(T)}u$  if  $\{\alpha_n\}$  satisfies the conditions:

$$\lim_{n \rightarrow \infty} \alpha_n = 0, \sum_{n=1}^{\infty} \alpha_n = \infty \text{ and } \sum_{n=1}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty,$$

where  $P_{\text{Fix}(T)}$  is the metric projection onto  $\text{Fix}(T)$ . Especially, letting  $0 = u \in C$ , we see that the sequence  $\{x_n\}$  converges strongly to  $P_{\text{Fix}(T)}0$ , i.e., the minimum-norm fixed point of  $T$ . Cai, Tang and Liu [3] presented an iterative method for finding the minimum-norm fixed point of  $T$ .

Let  $f$  be a bifunction from  $C \times C$  to  $\mathbb{R}$ , where  $\mathbb{R}$  is the set of real numbers. The equilibrium problem for  $f$  is to find  $\bar{x} \in C$  such that  $f(\bar{x}, y) \geq 0$  for all  $y \in C$ . The set of such solutions is denoted by  $EP(f)$ . Numerous problems in physics, optimization and economics can be reduced to find a solution of the equilibrium problem (for instance, see [4]). For solving equilibrium problem, we assume that the bifunction  $f$  satisfies the following conditions:

- (A1)  $f(x, x) = 0$  for all  $x \in C$ ;
- (A2)  $f$  is monotone, i.e.,  $f(x, y) + f(y, x) \leq 0$  for all  $x, y \in C$ ;
- (A3) For every  $x, y, z \in C$ ,  $\limsup_{t \downarrow 0} f(tz + (1-t)x, y) \leq f(x, y)$ ;
- (A4)  $f(x, \cdot)$  is convex and lower semicontinuous for each  $x \in C$ .

Some methods have been proposed to solve the equilibrium problem (see [4]–[12], [15]).

The methods for finding a common element of the set of fixed points of a nonexpansive mapping and the set of solutions of an equilibrium problem have received much attention in recent years. Tada and Takahashi [5] introduced an iterative scheme as follows.

$$\left\{ \begin{array}{l} x_0 = x \in H, \\ u_n \in C, \\ \text{such that } f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \geq 0 \text{ for all } y \in C, \\ \omega_n = (1 - \alpha_n)x_n + \alpha_n T u_n, \\ C_n = \{z \in H : \|\omega_n - z\| \leq \|x_n - z\|\}, \\ D_n = \{z \in H : \langle x_n - z, x - x_n \rangle \geq 0\}, \\ x_{n+1} = P_{C_n \cap D_n}(x_0), \end{array} \right.$$

where  $\{\alpha_n\} \subset [a, 1]$  for some  $a \in (0, 1)$  and  $\{r_n\} \subset (0, \infty)$  satisfies  $\liminf_{n \rightarrow \infty} r_n > 0$ . They proved that the sequence  $\{x_n\}$  converges to  $P_{\text{Fix}(T) \cap EP(f)}x$ . Takahashi and Takahashi [6] obtained the following iterative scheme

$$\left\{ \begin{array}{l} x_1 \in H, \\ u_n \in C, \\ \text{such that } f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \geq 0 \text{ for all } y \in C, \\ x_{n+1} = \alpha_n g(x_n) + (1 - \alpha_n) T u_n, \end{array} \right.$$

where  $g$  is a contraction on  $H$ . Under appropriate conditions they showed that the sequence  $\{x_n\}$  converges strongly to an element of the set  $\text{Fix}(T) \cap EP(f)$ .

Motivated by the above results, in this paper, we present a new iterative algorithm for finding a common element of the set of fixed points of a nonexpansive mapping and the set of solutions of an equilibrium problem, and prove the strong convergence theorems in Hilbert spaces. Finally, we give the applications to the convex minimization and variational inequality problems. Our results extend and improve some recent results of Cai, Tang and Liu [3] and others.

## 2. Preliminaries

Throughout this paper, let  $H$  be a real Hilbert space with inner product  $\langle \cdot, \cdot \rangle$  and norm  $\| \cdot \|$ , and let  $C$  be a nonempty closed convex subset of  $H$ . We write  $x_n \rightarrow x$  to indicate that the sequence  $\{x_n\}$  converges strongly to  $x$ . Similarly, the notation  $x_n \rightharpoonup x$  means weak convergence. It is well known that  $H$  satisfies Opial's condition, that is, for any sequence  $\{x_n\} \subset H$  with  $x_n \rightharpoonup x$ , we have

$$(2.1) \quad \liminf_{n \rightarrow \infty} \|x_n - x\| < \liminf_{n \rightarrow \infty} \|x_n - y\| \text{ for all } y \neq x.$$

For any  $x \in H$ , there exists a unique point  $P_C x \in C$  such that

$$\|x - P_C x\| \leq \|x - y\|, \text{ for all } y \in C.$$

$P_C$  is called the metric projection of  $H$  onto  $C$ . Note that  $P_C$  is a nonexpansive mapping of  $H$  onto  $C$ . For  $x \in H$  and  $z \in C$ , we have

$$(2.2) \quad z = P_C x \iff \langle z - y, x - z \rangle \geq 0 \text{ for every } y \in C.$$

We need the following lemmas.

**Lemma 2.1.** [4] *Let  $C$  be a nonempty closed convex subset of  $H$ , and let  $f$  be a bifunction from  $C \times C$  to  $\mathbb{R}$  satisfying (A1) – (A4). If  $r > 0$  and  $x \in H$ , then there exists  $z \in C$  such that*

$$f(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \geq 0 \text{ for all } y \in C.$$

**Lemma 2.2.** [11] *Let  $C$  be a nonempty closed convex subset of  $H$ , and let  $f$  be a bifunction from  $C \times C$  to  $\mathbb{R}$  satisfying (A1) – (A4). For  $r > 0$ , define a mapping  $T_r : H \rightarrow 2^C$  as follows:*

$$T_r(x) = \{z \in C : f(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \geq 0 \text{ for all } y \in C\}.$$

*Then the following hold:*

- (i)  $T_r$  is single-valued;
- (ii)  $T_r$  is firmly nonexpansive, i.e., for any  $x, y \in H$ ,

$$\langle x - y, T_r x - T_r y \rangle \geq \|T_r x - T_r y\|^2;$$

- (iii)  $\text{Fix}(T_r) = EP(f)$ ;
- (iv)  $EP(f)$  is closed and convex.

**Lemma 2.3.** [12] *Suppose that (A1) – (A4) hold. If  $x, y \in H$  and  $r_1, r_2 > 0$ , then*

$$\|T_{r_2} y - T_{r_1} x\| \leq \|y - x\| + \frac{|r_2 - r_1|}{r_2} \|T_{r_2} y - y\|.$$

**Lemma 2.4.** [13] *Let  $\{x_n\}$  and  $\{y_n\}$  be bounded sequences in a Banach space  $X$  and let  $\{\beta_n\}$  be a sequence in  $[0, 1]$  with*

$$0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1.$$

*Suppose  $x_{n+1} = (1 - \beta_n)x_n + \beta_n y_n$  for all integers  $n \geq 1$  and*

$$\limsup_{n \rightarrow \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \leq 0.$$

*Then*

$$\lim_{n \rightarrow \infty} \|y_n - x_n\| = 0.$$

The following lemma is an immediate consequence of the inner product on  $H$ .

**Lemma 2.5.** *For all  $x, y \in H$ , the inequality  $\|x + y\|^2 \leq \|x\|^2 + 2\langle y, x + y \rangle$  holds.*

**Lemma 2.6.** [14] *Let  $\{a_n\}$  be a sequence of nonnegative real numbers satisfying  $a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n \beta_n$ , where*

- (i)  $\{\alpha_n\} \subset (0, 1)$ ,  $\sum_{n=1}^{\infty} \alpha_n = \infty$ ;
- (ii)  $\limsup_{n \rightarrow \infty} \beta_n \leq 0$ .

*Then  $\lim_{n \rightarrow \infty} a_n = 0$ .*

### 3. Strong convergence theorems

In this section, we introduce a new iterative algorithm for finding a common element of the set of fixed points of a nonexpansive mapping and the set of solutions of an equilibrium problem, and we prove the strong convergence theorems in Hilbert spaces.

**Theorem 3.1.** *Let  $C$  be a nonempty closed convex subset of a real Hilbert space  $H$ , and let  $f$  be a bifunction from  $C \times C$  to  $\mathbb{R}$  satisfying (A1) – (A4). Suppose that  $T : C \rightarrow C$  is a nonexpansive mapping such that  $\text{Fix}(T) \cap EP(f) \neq \emptyset$ . For  $\lambda \in (0, 1)$  and  $\omega \in C$ , let  $\{x_n\}$  and  $\{u_n\}$  be sequences generated by*

$$(3.1) \quad \begin{cases} x_1 \in C \text{ chosen arbitrarily,} \\ u_n \in C, \\ \text{such that } f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \geq 0 \text{ for all } y \in C, \\ x_{n+1} = (1 - \alpha_n)[\lambda T u_n + (1 - \lambda)x_n] + \alpha_n \omega, \end{cases}$$

where the sequences  $\{\alpha_n\} \subset (0, 1)$  and  $\{r_n\} \subset (0, \infty)$  satisfy the following conditions:

- (1)  $\lim_{n \rightarrow \infty} \alpha_n = 0$  and  $\sum_{n=1}^{\infty} \alpha_n = \infty$ ;
- (2)  $\liminf_{n \rightarrow \infty} r_n > 0$  and  $\lim_{n \rightarrow \infty} |r_{n+1} - r_n| = 0$ .

Then the sequence  $\{x_n\}$  converges strongly to  $P_{\text{Fix}(T) \cap EP(f)} \omega$ .

**Proof.** Note that  $\text{Fix}(T) \cap EP(f)$  is a closed convex subset of  $H$  since  $\text{Fix}(T)$  and  $EP(f)$  are closed and convex. For simplicity, we write  $\Omega := \text{Fix}(T) \cap EP(f)$ .

From Lemmas 2.1 and 2.2, we have  $u_n = T_{r_n} x_n$ , and for any  $z \in \Omega$ ,

$$(3.2) \quad \|u_n - z\| = \|T_{r_n} x_n - T_{r_n} z\| \leq \|x_n - z\|.$$

It follows that

$$(3.3) \quad \begin{aligned} \|x_{n+1} - z\| &= \|(1 - \alpha_n)[\lambda T u_n + (1 - \lambda)x_n] + \alpha_n \omega - z\| \\ &\leq (1 - \alpha_n) \|\lambda T u_n + (1 - \lambda)x_n - z\| + \alpha_n \|\omega - z\| \\ &\leq (1 - \alpha_n) [\lambda \|T u_n - z\| + (1 - \lambda) \|x_n - z\|] + \alpha_n \|\omega - z\| \\ &\leq (1 - \alpha_n) [\lambda \|u_n - z\| + (1 - \lambda) \|x_n - z\|] + \alpha_n \|\omega - z\| \\ &\leq (1 - \alpha_n) \|x_n - z\| + \alpha_n \|\omega - z\| \\ &\leq \max \{ \|x_n - z\|, \|\omega - z\| \}. \end{aligned}$$

From a simple inductive process, we get

$$\|x_{n+1} - z\| \leq \max \{ \|x_1 - z\|, \|\omega - z\| \},$$

which yields that  $\{x_n\}$  is bounded. So is the sequence  $\{u_n\}$ .

Setting

$$y_n = \frac{(1 - \alpha_n)\lambda T u_n + \alpha_n \omega}{\alpha_n + (1 - \alpha_n)\lambda},$$

one has

$$\begin{aligned} & \|y_{n+1} - y_n\| \\ &= \left\| \frac{(1 - \alpha_{n+1})\lambda T u_{n+1} + \alpha_{n+1}\omega}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{(1 - \alpha_n)\lambda T u_n + \alpha_n \omega}{\alpha_n + (1 - \alpha_n)\lambda} \right. \\ & \quad \left. + \frac{(1 - \alpha_n)\lambda T u_n + \alpha_n \omega}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{(1 - \alpha_n)\lambda T u_n + \alpha_n \omega}{\alpha_n + (1 - \alpha_n)\lambda} \right\| \\ &\leq \left\| \frac{(\alpha_{n+1} - \alpha_n)\omega + (1 - \alpha_{n+1})\lambda T u_{n+1} - (1 - \alpha_n)\lambda T u_n}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} \right\| \\ & \quad + \left| \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{1}{\alpha_n + (1 - \alpha_n)\lambda} \right| \cdot \|(1 - \alpha_n)\lambda T u_n + \alpha_n \omega\| \\ &\leq \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} \left[ \|(\alpha_{n+1} - \alpha_n)\omega\| \right. \\ & \quad \left. + \|(1 - \alpha_{n+1})\lambda T u_{n+1} - (1 - \alpha_n)\lambda T u_n\| \right] \\ & \quad + \left| \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{1}{\alpha_n + (1 - \alpha_n)\lambda} \right| \cdot \|(1 - \alpha_n)\lambda T u_n + \alpha_n \omega\| \\ &\leq \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} \left[ \|(\alpha_{n+1} - \alpha_n)\omega\| \right. \\ & \quad + \|(1 - \alpha_{n+1})\lambda T u_{n+1} - (1 - \alpha_{n+1})\lambda T u_n\| \\ & \quad + \|(1 - \alpha_{n+1})\lambda T u_n - (1 - \alpha_n)\lambda T u_n\| \\ & \quad \left. + \left| \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{1}{\alpha_n + (1 - \alpha_n)\lambda} \right| \cdot \|(1 - \alpha_n)\lambda T u_n + \alpha_n \omega\| \right] \\ &\leq \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} \left[ \|(\alpha_{n+1} - \alpha_n)\omega\| + (1 - \alpha_{n+1})\lambda \|u_{n+1} - u_n\| \right. \\ & \quad \left. + |\alpha_{n+1} - \alpha_n| \lambda \|T u_n\| \right] \\ & \quad + \left| \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{1}{\alpha_n + (1 - \alpha_n)\lambda} \right| \cdot \|(1 - \alpha_n)\lambda T u_n + \alpha_n \omega\|. \end{aligned}$$

Since  $\liminf_{n \rightarrow \infty} r_n > 0$ , without loss of generality, we may assume that there exists a real number  $c$  such that  $r_n > c > 0$  for all  $n \geq 1$ . According to Lemma 2.3, it follows that

$$\begin{aligned}
 & \|y_{n+1} - y_n\| \\
 & \leq \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} \left[ \|(\alpha_{n+1} - \alpha_n)\omega\| + [(1 - \alpha_{n+1})\lambda + \alpha_{n+1}] \|u_{n+1} - u_n\| \right. \\
 & \quad \left. + |\alpha_{n+1} - \alpha_n| \lambda \|Tu_n\| \right] \\
 & \quad + \left| \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{1}{\alpha_n + (1 - \alpha_n)\lambda} \right| \cdot \|(1 - \alpha_n)\lambda Tu_n + \alpha_n \omega\| \\
 & \leq \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} \left[ \|(\alpha_{n+1} - \alpha_n)\omega\| + [(1 - \alpha_{n+1})\lambda + \alpha_{n+1}] (\|x_{n+1} - x_n\| \right. \\
 & \quad \left. + \frac{|r_{n+1} - r_n|}{c} \|u_{n+1} - x_{n+1}\|) + |\alpha_{n+1} - \alpha_n| \lambda \|Tu_n\| \right] \\
 & \quad + \left| \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{1}{\alpha_n + (1 - \alpha_n)\lambda} \right| \cdot \|(1 - \alpha_n)\lambda Tu_n + \alpha_n \omega\| \\
 & \leq \|x_{n+1} - x_n\| + \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} \left[ \|(\alpha_{n+1} - \alpha_n)\omega\| \right. \\
 & \quad \left. + [(1 - \alpha_{n+1})\lambda + \alpha_{n+1}] \frac{|r_{n+1} - r_n|}{c} \|u_{n+1} - x_{n+1}\| + |\alpha_{n+1} - \alpha_n| \lambda \|Tu_n\| \right] \\
 & \quad + \left| \frac{1}{\alpha_{n+1} + (1 - \alpha_{n+1})\lambda} - \frac{1}{\alpha_n + (1 - \alpha_n)\lambda} \right| \cdot \|(1 - \alpha_n)\lambda Tu_n + \alpha_n \omega\|.
 \end{aligned}$$

Therefore, we get

$$\limsup_{n \rightarrow \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \leq 0.$$

It follows from Lemma 2.4 that  $\lim_{n \rightarrow \infty} \|y_n - x_n\| = 0$ . Thus,

$$(3.4) \quad \lim_{n \rightarrow \infty} \|x_{n+1} - x_n\| = \lim_{n \rightarrow \infty} [\alpha_n + (1 - \alpha_n)\lambda] \|y_n - x_n\| = 0.$$

For any  $z \in \Omega$ , we have

$$\begin{aligned}
 \|u_n - z\|^2 &= \|T_{r_n}x_n - T_{r_n}z\|^2 \\
 &\leq \langle x_n - z, u_n - z \rangle \\
 &= \frac{1}{2} [\|x_n - z\|^2 + \|u_n - z\|^2 - \|x_n - u_n\|^2],
 \end{aligned}$$

which yields

$$(3.5) \quad \|u_n - z\|^2 \leq \|x_n - z\|^2 - \|x_n - u_n\|^2.$$

By (3.1), one has

$$\begin{aligned}
\|x_{n+1} - z\|^2 &= \|(1 - \alpha_n)[\lambda Tu_n + (1 - \lambda)x_n] + \alpha_n\omega - z\|^2 \\
&= \|(1 - \alpha_n)[\lambda Tu_n + (1 - \lambda)x_n - z] + \alpha_n(\omega - z)\|^2 \\
&\leq (1 - \alpha_n)\|\lambda Tu_n + (1 - \lambda)x_n - z\|^2 + \alpha_n\|\omega - z\|^2 \\
&\leq (1 - \alpha_n)\|\lambda(Tu_n - z) + (1 - \lambda)(x_n - z)\|^2 + \alpha_n\|\omega - z\|^2 \\
&\leq (1 - \alpha_n)[\lambda\|u_n - z\|^2 + (1 - \lambda)\|x_n - z\|^2] + \alpha_n\|\omega - z\|^2 \\
&\leq (1 - \alpha_n)[\lambda\|x_n - z\|^2 - \lambda\|x_n - u_n\|^2 + (1 - \lambda)\|x_n - z\|^2] \\
&\quad + \alpha_n\|\omega - z\|^2 \\
&\leq \|x_n - z\|^2 - (1 - \alpha_n)\lambda\|x_n - u_n\|^2 + \alpha_n\|\omega - z\|^2,
\end{aligned}$$

which implies

$$\begin{aligned}
(1 - \alpha_n)\lambda\|x_n - u_n\|^2 &\leq \|x_n - z\|^2 - \|x_{n+1} - z\|^2 + \alpha_n\|\omega - z\|^2 \\
&\leq \|x_n - x_{n+1}\|(\|x_n - z\| + \|x_{n+1} - z\|) + \alpha_n\|\omega - z\|^2.
\end{aligned}$$

Consequently, equality (3.4) and  $\lim_{n \rightarrow \infty} \alpha_n = 0$  imply

$$(3.6) \quad \lim_{n \rightarrow \infty} \|x_n - u_n\| = 0.$$

Observe that

$$\begin{aligned}
&\|x_n - Tx_n\| \\
&\leq \|x_n - x_{n+1}\| + \|x_{n+1} - Tx_n\| \\
&\leq \|x_n - x_{n+1}\| + \|(1 - \alpha_n)[\lambda Tu_n + (1 - \lambda)x_n] + \alpha_n\omega - Tx_n\| \\
&\leq \|x_n - x_{n+1}\| + \|(1 - \alpha_n)[\lambda Tu_n + (1 - \lambda)x_n - Tx_n] + \alpha_n(\omega - Tx_n)\| \\
&\leq \|x_n - x_{n+1}\| + \|(1 - \alpha_n)[\lambda(Tu_n - Tx_n) + (1 - \lambda)(x_n - Tx_n)] \\
&\quad + \alpha_n(\omega - Tx_n)\| \\
&\leq \|x_n - x_{n+1}\| + (1 - \alpha_n)\lambda\|u_n - x_n\| + (1 - \alpha_n)(1 - \lambda)\|x_n - Tx_n\| \\
&\quad + \alpha_n\|\omega - Tx_n\|,
\end{aligned}$$

which deduces

$$\begin{aligned}
&[1 - (1 - \alpha_n)(1 - \lambda)]\|x_n - Tx_n\| \\
&\leq \|x_n - x_{n+1}\| + (1 - \alpha_n)\lambda\|u_n - x_n\| + \alpha_n\|\omega - Tx_n\|.
\end{aligned}$$

It follows from (3.4), (3.6) and  $\lim_{n \rightarrow \infty} \alpha_n = 0$  that

$$(3.7) \quad \lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0.$$



We shall prove that

$$\limsup_{n \rightarrow \infty} \langle \omega - z_0, x_n - z_0 \rangle \leq 0,$$

where  $z_0 = P_\Omega \omega$ . In order to show this inequality, we can choose a subsequence  $\{x_{n_i}\}$  of  $\{x_n\}$  such that

$$(3.8) \quad \limsup_{n \rightarrow \infty} \langle \omega - z_0, x_n - z_0 \rangle = \lim_{i \rightarrow \infty} \langle \omega - z_0, x_{n_i} - z_0 \rangle.$$

Based on the boundedness of  $\{x_{n_i}\}$ , without loss of generality, we assume that  $x_{n_i} \rightharpoonup p$ . Now we show that  $p \in \Omega$ . As  $\{x_n\} \subset C$  and  $C$  is a closed convex set, one has  $p \in C$ . We firstly prove that  $p \in EP(f)$ . According to (3.1), we have

$$f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \geq 0 \text{ for all } y \in C.$$

The monotonicity of  $f$  yields

$$\frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \geq f(y, u_n) \text{ for all } y \in C.$$

Replacing  $n$  by  $n_i$ , we obtain

$$\langle y - u_{n_i}, \frac{u_{n_i} - x_{n_i}}{r_{n_i}} \rangle \geq f(y, u_{n_i}) \text{ for all } y \in C.$$

It follows from (3.6) and (A4) that

$$f(y, p) \leq 0 \text{ for all } y \in C.$$

For  $0 < t \leq 1$ ,  $y \in C$ , set  $y_t = ty + (1 - t)p$ . Then  $y_t \in C$  and  $f(y_t, p) \leq 0$ . Hence

$$0 = f(y_t, y_t) \leq tf(y_t, y) + (1 - t)f(y_t, p) \leq tf(y_t, y).$$

Dividing by  $t$ , we see that

$$f(y_t, y) \geq 0.$$

Letting  $t \downarrow 0$ , we get

$$f(p, y) \geq 0 \text{ for all } y \in C.$$

That is,  $p \in EP(f)$ .

Now we prove that  $p \in \text{Fix}(T)$ . Otherwise, assume that  $p \notin \text{Fix}(T)$ , that is,  $p \neq Tp$ . The Opial's condition and (3.7) imply

$$\begin{aligned} \liminf_{i \rightarrow \infty} \|x_{n_i} - p\| &< \liminf_{i \rightarrow \infty} \|x_{n_i} - Tp\| \\ &= \liminf_{i \rightarrow \infty} \|x_{n_i} - Tx_{n_i} + Tx_{n_i} - Tp\| \\ &= \liminf_{i \rightarrow \infty} \|Tx_{n_i} - Tp\| \\ &\leq \liminf_{i \rightarrow \infty} \|x_{n_i} - p\|. \end{aligned}$$

This is a contradiction. Thus  $p \in \text{Fix}(T)$ . By (3.8) and the property of metric projection, we have

$$(3.9) \quad \begin{aligned} \limsup_{n \rightarrow \infty} \langle \omega - z_0, x_n - z_0 \rangle &= \lim_{i \rightarrow \infty} \langle \omega - z_0, x_{n_i} - z_0 \rangle \\ &= \langle \omega - z_0, p - z_0 \rangle \leq 0. \end{aligned}$$

Using (3.1) again, we obtain

$$\begin{aligned} \|x_{n+1} - z_0\|^2 &= \|(1 - \alpha_n)[\lambda Tu_n + (1 - \lambda)x_n - z_0] + \alpha_n(\omega - z_0)\|^2 \\ &\leq (1 - \alpha_n)\|\lambda(Tu_n - z_0) + (1 - \lambda)(x_n - z_0)\|^2 \\ &\quad + 2\langle \alpha_n(\omega - z_0), x_{n+1} - z_0 \rangle \\ &\leq (1 - \alpha_n)\|x_n - z_0\|^2 + 2\alpha_n\langle \omega - z_0, x_{n+1} - z_0 \rangle. \end{aligned}$$

It follows from (3.9) and Lemma 2.6 that  $\{x_n\}$  converges strongly to  $z_0$ . ■

**Remark 1.** The iterative algorithm in Theorem 3.1 weakens the conditions in Theorem 3.1 of Wang et al. [15] and Theorem 3.2 of Takahashi and Takahashi [6] in the following aspects:

- (i) the condition  $\sum_{n=1}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty$  is removed;
- (ii) the condition  $\sum_{n=1}^{\infty} |r_{n+1} - r_n| < \infty$  is weakened by the condition

$$\lim_{n \rightarrow \infty} |r_{n+1} - r_n| = 0.$$

We immediately obtain the following corollaries by Theorem 3.1.

**Corollary 3.2.** *Let  $C$  be a nonempty closed convex subset of a real Hilbert space  $H$ . Suppose that  $T : C \rightarrow C$  is a nonexpansive mapping such that  $\text{Fix}(T) \neq \emptyset$ . For  $\lambda \in (0, 1)$  and  $\omega \in C$ , let  $\{x_n\}$  be a sequence generated by*

$$(3.10) \quad \begin{cases} x_1 \in C \text{ chosen arbitrarily,} \\ x_{n+1} = (1 - \alpha_n)[\lambda Tx_n + (1 - \lambda)x_n] + \alpha_n\omega, \end{cases}$$

where the sequence  $\{\alpha_n\} \subset (0, 1)$  satisfies the following conditions:

- (1)  $\lim_{n \rightarrow \infty} \alpha_n = 0$ ;
- (2)  $\sum_{n=1}^{\infty} \alpha_n = \infty$ .

Then the sequence  $\{x_n\}$  converges strongly to  $P_{\text{Fix}(T)}\omega$ .

**Proof.** Letting  $f(x, y) \equiv 0$  for all  $x, y \in C$  and  $r_n = 1$  in Theorem 3.1, we obtain the desired result. ■

**Remark 2.** Corollary 3.2 includes, as a special case, Theorem 3.2 of Cai, Tang and Liu [3].

**Corollary 3.3.** *Let  $C$  be a nonempty closed convex subset of a real Hilbert space  $H$ , and let  $f$  be a bifunction from  $C \times C$  to  $\mathbb{R}$  satisfying (A1) – (A4) such that  $EP(f) \neq \emptyset$ . For  $\lambda \in (0, 1)$  and  $\omega \in C$ , let  $\{x_n\}$  and  $\{u_n\}$  be sequences generated by*

$$(3.11) \quad \begin{cases} x_1 \in C \text{ chosen arbitrarily,} \\ u_n \in C, \text{ such that } f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \geq 0 \text{ for all } y \in C, \\ x_{n+1} = (1 - \alpha_n)[\lambda u_n + (1 - \lambda)x_n] + \alpha_n \omega, \end{cases}$$

where the sequences  $\{\alpha_n\} \subset (0, 1)$  and  $\{r_n\} \subset (0, \infty)$  satisfy the following conditions:

- (1)  $\lim_{n \rightarrow \infty} \alpha_n = 0$  and  $\sum_{n=1}^{\infty} \alpha_n = \infty$ ;
- (2)  $\liminf_{n \rightarrow \infty} r_n > 0$  and  $\lim_{n \rightarrow \infty} |r_{n+1} - r_n| = 0$ .

Then the sequence  $\{x_n\}$  converges strongly to  $P_{EP(f)}\omega$ .

**Proof.** Putting  $T = I$  in Theorem 3.1, we get the result. ■

#### 4. Applications

In this section, we apply the results in the preceding section to convex minimization problem and variational inequality problem.

Now, we consider the convex minimization problem

$$(4.1) \quad \begin{cases} \min \phi(x) \\ x \in C, \end{cases}$$

where  $\phi(x)$  is a proper lower semicontinuous convex function of  $H$  into  $(-\infty, +\infty]$  such that  $C$  is included in  $\text{dom}\phi = \{x \in H : \phi(x) < +\infty\}$ . We denote by  $\text{Sol}(\phi, C)$  the set of solutions of (4.1). Let  $f : C \times C \rightarrow \mathbb{R}$  be a bifunction defined by

$$f(x, y) = \phi(y) - \phi(x).$$

It is clear that  $f(x, y)$  satisfies (A1) – (A4) and  $EP(f) = \text{Sol}(\phi, C)$ . Therefore the following result is obtained.

**Theorem 4.1.** *Let  $\phi(x)$  be a proper lower semicontinuous convex function of  $H$  into  $(-\infty, +\infty]$  and  $C$  a nonempty closed convex subset of  $H$  such that  $C$  is included in  $\text{dom}\phi$ . Suppose that  $\text{Sol}(\phi, C) \neq \emptyset$ . For  $\lambda \in (0, 1)$  and  $\omega \in C$ , let  $\{x_n\}$  and  $\{u_n\}$  be sequences generated by*

$$(4.2) \quad \begin{cases} x_1 \in C \text{ chosen arbitrarily,} \\ u_n = \arg \min_{y \in C} \left\{ \phi(y) + \frac{1}{2r_n} \|y - x_n\|^2 \right\}, \\ x_{n+1} = (1 - \alpha_n)[\lambda u_n + (1 - \lambda)x_n] + \alpha_n \omega, \end{cases}$$

where the sequences  $\{\alpha_n\} \subset (0, 1)$  and  $\{r_n\} \subset (0, \infty)$  satisfy the following conditions:

- (1)  $\lim_{n \rightarrow \infty} \alpha_n = 0$  and  $\sum_{n=1}^{\infty} \alpha_n = \infty$ ;
- (2)  $\liminf_{n \rightarrow \infty} r_n > 0$  and  $\lim_{n \rightarrow \infty} |r_{n+1} - r_n| = 0$ .

Then the sequence  $\{x_n\}$  converges strongly to an element of  $\text{Sol}(\phi, C)$ .

**Proof.** Letting  $f(x, y) = \phi(y) - \phi(x)$  in Corollary 3.3, we get the conclusion. ■

Next, we study the variational inequality problem. Let  $A : C \rightarrow C$  be a mapping. The variational inequality problem for  $A$  is to find  $z \in C$  such that

$$(4.3) \quad \langle Az, y - z \rangle \geq 0, \text{ for all } y \in C.$$

The set of its solutions is denoted by  $VI(C, A)$ . For  $\lambda > 0$ , it is easy to see that a point  $z$  is a solution of variational inequality (4.3) if and only if  $z \in \text{Fix}(P_C(I - \lambda A))$ . Given a positive constant  $\alpha$ , a mapping  $A : C \rightarrow C$  is said to be  $\alpha$ -inverse strongly monotone if

$$\langle x - y, Ax - Ay \rangle \geq \alpha \|Ax - Ay\|^2 \text{ for all } x, y \in C.$$

Let  $A : C \rightarrow C$  be  $\alpha$ -inverse strongly monotone and  $0 < \lambda \leq 2\alpha$ . Then mapping  $I - \lambda A$  is nonexpansive (see [16]). Using Corollary 3.2, we obtain the strong convergence theorem for variational inequality problem.

**Theorem 4.2.** *Let  $C$  be a nonempty closed convex subset of a real Hilbert space  $H$ , and let  $A : C \rightarrow C$  be an  $\alpha$ -inverse strongly monotone mapping with  $\alpha > 0$ . Suppose that  $VI(C, A) \neq \emptyset$ . For  $\lambda \in (0, 1)$  with  $\lambda \leq 2\alpha$  and  $\omega \in C$ , let  $\{x_n\}$  be a sequence generated by*

$$(4.4) \quad \begin{cases} x_1 \in C \text{ chosen arbitrarily,} \\ x_{n+1} = (1 - \alpha_n)[\lambda P_C(I - \lambda A)x_n + (1 - \lambda)x_n] + \alpha_n \omega, \end{cases}$$

where the sequence  $\{\alpha_n\} \subset (0, 1)$  satisfies the following conditions:

$$(1) \lim_{n \rightarrow \infty} \alpha_n = 0;$$

$$(2) \sum_{n=1}^{\infty} \alpha_n = \infty.$$

Then the sequence  $\{x_n\}$  converges strongly to an element of  $VI(C, A)$ .

**Proof.** Since  $0 < \lambda \leq 2\alpha$ , the mapping  $I - \lambda A$  is nonexpansive. So is  $P_C(I - \lambda A)$ . Corollary 3.2 yields the result. ■

## References

- [1] HALPERN, B., *Fixed points of nonexpanding maps*, Bull. Amer. Math. Soc., 73 (1967), 957-961.
- [2] WITTMANN, R., *Approximation of fixed points of nonexpansive mappings*, Arch. Math., 58 (1992), 486-491.
- [3] CAI, Y., TANG, Y., LIU, L., *Iterative algorithms for minimum-norm fixed point of nonexpansive mapping in Hilbert space*, Fixed Point Theory Appl., 49 (2012).
- [4] BLUM, E., OETTLI, W., *From optimization and variational inequalities to equilibrium problems*, Math. Stud., 63 (1994), 123-145.
- [5] TADA, A., TAKAHASHI, W., *Weak and strong convergence theorems for a nonexpansive mapping and an equilibrium problem*, J. Optim. Theory Appl., 133 (2007), 359-370.
- [6] TAKAHASHI, S., TAKAHASHI, W., *Viscosity approximation methods for equilibrium problems and fixed point problems in Hilbert spaces*, J. Math. Anal. Appl., 331 (2007), 506-515.
- [7] QU, D.N., CHENG, C.Z., *A strong convergence theorem on solving common solutions for generalized equilibrium problems and fixed-point problems in Banach space*, Fixed Point Theory Appl., 17 (2011).
- [8] QIN, X.L., CHO, S.Y., KIM, J.K., *On the weak convergence of iterative sequences for generalized equilibrium problems and strictly pseudocontractive mappings*, Optimization, 61 (2012), 805-821.
- [9] KAMRAKSA, U., WANGKEEREE, R., *Generalized equilibrium problems and fixed point problems for nonexpansive semigroups in Hilbert spaces*, J. Glob. Optim., 51 (2011), 689-714.
- [10] CHOLAMJIAK, P., SUANTAI, S., CHO, Y.J., *Strong convergence to solutions of generalized mixed equilibrium problems with applications*, J. Appl. Math. Article ID 308791 (2012).

- [11] COMBETTES, P.L., HIRSTOAGA, S.A., *Equilibrium programming in Hilbert spaces*, J. Nonlinear Convex Anal., 6 (2005), 117-136.
- [12] CIANCIARUSO, F., MARINO, G., MUGLIA, L., *Iterative methods for equilibrium and fixed point problems for nonexpansive semigroups in Hilbert spaces*, J. Optim. Theory Appl., 146 (2010), 491-509.
- [13] SUZUKI, T., *Strong convergence theorems for infinite families of nonexpansive mappings in general Banach spaces*, Fixed Point Theory Appl., 103 (2005).
- [14] XU, H.K., *Another control condition in an iterative method for nonexpansive mappings*, Bull. Aust. Math. Soc., 65 (2002), 109-113.
- [15] WANG, Z.M., SU, Y.F., CHO, S.Y., LOU, W.D., *A new iterative algorithm for equilibrium and fixed point problems of nonexpansive mapping*, J. Glob. Optim., 50 (2011), 457-472.
- [16] TAKAHASHI, W., TOYODA, M., *Weak convergence theorems for nonexpansive mappings and monotone mappings*, J. Optim. Theory Appl., 118 (2003), 417-428.

Accepted: 08.05.2014